RMA - Projecis\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, TX-4166

RODUCTS, I NC.

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code {IRC), Sections R301 & R4613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions} subject to the following conditions:

1. Anchors shall be os listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2, When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details (fiush glazing)
Door panel details {lip lite inserf glazing)
Slidelte panel details {flush giazing)
Slidelte panel details (lip lite insert glazing)

Herizontal cross sections
Vertical cross sections
Verticai cross sections
Frame anchoring

0| NjO |l | WM

112.25" MAX. OVERALL

&)
i

oL

SOTIEAT

FRAME WIDTH

82" MAX, OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT {QUTSWING])

@

© o

OXO | LIP LITEINSERT | INSWING +40.0 -40.0
OXO | LIPLIHEINSERT | OUTSWING +35.0 ~40.0
OXO |FLUSH GLAZED | INSWING +50.0 -50.0
OXO |FLUSH GLAZED | OUTSWING +40.0 -40.0

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 valrico Fl. 33585

BUILDING CONSULTANTS, INC,
Phona No.: 813.658.8197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

[¥5]
=
23
vl
Sz
& . =
by Jar{ RS
=R [/ e
i a2l 2
a4
< F&
iy ol 82
=
s = S
Fa P L
o gl X
o
& N
D
Wi
|
=
2
tzﬂ =z
3 3
=
]
=l e
(v g
<T
[
L
[
a
ey
M
S
Ni
~a
o
=
paTE: 7/03/12
SCALE: N.T.S.
IWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4166

SHEET ] oF 9




uj
oo
23 2o
STILE STILE Ex a us
(LAMINATED WOOD) 56 e (LAMINATED WOOD) S0 o8 &C
' EXTERIOR c& % s G
TOP RAIL 7 gg Bos 2
b ) - T y 2 n ZZ
f \ : ; h ) L X -..'._: T \ {WOOD COMP.)‘\~%/ T 5 g g% %E
= 1 . ! v IR "
> g g ) % Zgo Eg
o 3y 2 3 M~ - 7 : . “ '.';_: l 5. O o g Ea
+ - NS i | o N SER | Y 3 287 s,
FIBERGLASS SKIN I s -
e -~ LG _ (0.075° MIN.}\ : Baf 3
' INTERIOR . - . § g%
IERAAR i 2
LOCK BLOCK ‘ £ i
(12.0" HIGH) 2 S
-]
71"\ HORIZONTAL CROSS SECTION
2
\2/ o
LD
L2
35.75" MAX. - < 0=
PANEL WIDTH =R L s
2 2 %x
t & (s 7]
I _ INTERIOR EXTERIOR A a3
D.L.O. WIDTH = o S
g &)
2 =
< 2 ) g <
Ll
GLASS BITE 3/4" y
o
Q = EXTERIOR POLYURETHANE SEALANT 5
25 %6 1 ——— 1.0" NOMINAL GLASS THK o 2
T W i ' ' FOAM CORE —~_ || g2
L 55 E 2 . 1/8" TEMPERED GLASS (POLYURETHANE } M. 3 %’
. i I
B 3 N AR SPACE o &
& = <
o [}
"~ 1/8" TEMPERED GLASS 3 2
STEEL SPACER oM R S 5
NTERIOR [WOOD COMP) ™ | §H
U
b | r =l
|
=
MASONITE ) GLAZING DETAIL ) baTE: 7/03/12
Flush glazed Flush Glazing 175" = scatk:  N.T.S,
(fibergloss) DWG. av: JK
CHK. BY: LFS
/"2 "\ VERTICAL CROSS SECTION SRANNG o
2 TX—4166
SHEET _Z oF G

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 2.3

© 2012 R.W. BUILDING CONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 3.3

STILE

(WOOD COMP.) \

;,
:

2

1.6" -

LOCK BLOCK
{12.0" HIGH)

35.75" MAX,
PANEL WIDTH
21.0" MAX - o
D.L.O. WIDTH E
3
&
= =
25 %0 ]
<8 3% oml
T :
< 7 ) 3
o pri )
ihZ O E
N o
o~
[

MASONITE
Insert glazed
{fibergiass)

INTERIOR

STLE

ki kR

N/
¥/

EXTERIOR

=LA LAY

(WOQOD COMP.) \

MR
—

1.6"

m HORIZONTAL CROSS SECTION

3/

#6 X 1-1/2" PH SMS

INTERIOR T

2]
7

GLASS BITE 1/2"

ri

EXTERIOR
LOW TACK SEALANT

¥/

STEEL SPACER

QSO SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

1/2" NOMINAL GLASS THK,

1/8" TEMPERED GLASS
% AR SPACE

1/8" TEMPERED GLASS

TOP RAIL
{WOOD COMP.] ™|

FIBERGLASS SKIN

INTERIOR

FOAM CORE :
[POLYU RETHA?:IE}\~

BOTTOM RAIL
(WOOD COMP.} ™~ ™

(0075 MN) T | .

1.7

/i
[/

'/
i

EXTERIOR

|

el B A

| e 1.75" ‘J

/" 2"\ VERTICAL CROSS SECTION
3

ui
o
on
23 4
Ex e
ﬁaa 3 u
N Om ]
- Z z
v = e i
g o
Sg 0@ -
-4
] vo F
E.l"- EEn =
4 3@ 0
a>m E
ZOow
s gnt g
& ONGog
b+l Q3% u
bl %mn o
] 5
= M [ ]
e 254 %
o L3
: X
il
15
[ ]
E g
3 a;
3]
&
&

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRCDUCT:

DOOR PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
B

11/26/13|ADDED ARTICULATING SILL

NOJ| DATE

7

REVISIONS

pate: 7/03/12

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4166

SHEET 3 ofF 9

© 2012 R.W. BUILDING CONSULTANTS s,



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 4.3

STILE
(LAMINATED WOOD)

-— 175"

1.6" -

35.75" MAX.

PANEL WIDTH

21.0" MAX

D.L.O. WIDTH

79.25" MAX. DOOR
PANEI, HEIGHT
63.0" MAX
D.L.O. HEIGHT
<

MASORNITE
Flush glozed
{fibergiass)

STILE
(LAMINATED WOOD)

EXTERIOR

/
L\
A\

INTERIOR 1.6"

@ HORIZONTAL CROSS SECTION
4

GLASS BITE 3/4"
POLYURETHANE SEALANT

EXTERICR

1/8" TEMPERED GLASS
/
o AIR SPACE

~
=

- II P

™~ 1/8" TEMPERED GLASS

STEEL SPACER
INTERIOR

GLAZING DETAIL

G2 Flush Glazing

= 1.0" NOMINAL GLASS THK,

TOP RAL

(WOOD COMP.) ~ ™

a9 _*_ﬁ_.l

(0.075" MIN.) —\

INTERIOR EXTERIOR

u
oy
23 £ o4
Er wn (MR
. o u @
£+ 8 L2
vy d®¥ &7
L = Z
e e e
(B2 wm
5 - 3
s ZZ
° 0 M o6
5 HE8 5E
e 459 @
A>n @E
Zom &
e am 056
& Ods py
0 o
o 23572 u
1 r4 m
£ 5Qe &
g 9 .¢c
a = o
g 502 %E
& hoa 5%
: =
L R
Q
: 2
0
Q
v
=l
<C
W)
0=
~N
= o
> H =o
2 B &
i Zl %
Lad Lty
==
< O
[ x| @D
o %
o o
2

FOAM CORE '
(POLYURE?HAN—I} :

0.9“

BOTIOM RAIL

[(WOOD COMP.) ™ ™|

11/26/13|ADDED ARTICULATING SILL

NO| DATE

1

REVISIONS

oaTE: 7/03/12

- 175" =]

scale:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

@ VERTICAL CROSS SECTION
4

DRAWING NO.:
TX—4166

SsHEEY 4 oF 9

© 2012 R.W. BUILDING DONSULTANTS INC.



R:M\A - Projects\Project Folders\Proj 1601 - 17000\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 3.3

STILE

{WOOD COMP.} \

)/

;
i

i

S—

NS AU

1.6

35.75" MAX,
PANEL WIDTH

21.0" MAX
D.L.O. WIBTH

79.25" MAX. DOOR
PANEL HEIGHT

63.0" MAX
D.L.O. HEIGHT

MASONITE
Insert glazed
(fibergloss)

==}

STILE

{(WOOD COMP.) .\

INTERIOR

L=
7

MR

EXTERIOR 1.6 -

@ HORIZONTAL CROSS SECTION
5

#6 X 1-1/2° PH SMS

GLASS BRE 1/2°
INTERIOR

Iz

1/8" TEMPERED GLASS

AIR SPACE
=<

1/8" TEMPERED GLASS

STEEL SPACER
EXTERIOR QSO SEALANT

LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

G1

—1/2" NOMINAL GLASS THK.

TOP RAIL

(WOOD COMP.)

FIBERGLASS SKIN
{0.075" MIN.)

N

LT A
| MARRRAL

Nl

1.7

INTERIOR EXTERIOR
¥/
FOAM CORE
{POLYURETHANE )
BOTTOM RAIL RSN
(WOOD COMP} ™|
~w4]y—*J

/"2 "\ VERTICAL CROSS SECTION

8/

Lyndon F. Sehmidt, P.E,
TEXAS P.E. #104123

P.0. Box 230 Vairlco FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F~11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
BY

11,/26/13|ADDED ARTICULATING SILL

NO., DATE

1

REVISIONS

ate: 7/03/12

SCALE:  N.T.S.

OwWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4166

SHEEY 5 of 9

© 20012 A.W. BUILDING GCONSULTANTS ING.



R - Projects\Project Folders\Proj 1601 - 1700APF 1675\D. RWBC Drawings\TX-4164-67.dwg, 6.3

= - SIDELITE PANEL /’ EXT. SHEATHING
ﬂl EXTERIOR _ L
Y / / e
Va Va v
/ / / N
2X FRAMING
(2 v [D L (6>=04)
DRYWALL SCREW
O X/g\ OH__| O {See Note 1)
I | ol \"!\ )
\ DEADBOLT: KWIKSET SIGNATURE SERIES T
/ / 7 (980/985) INTERIOR R T T
/// /// /// |1 LATCH: KWIKSET SIGNATURE SERIES / \
/ / / (991} JAMB DRYWALL
#10X 2.5" PFH
1/4" MAX, WOOD SCREW
| SHIM SPACE
b > q q CORNER PADS [TYP.] N
1 \HORIZONTAL CROSS SECTION
2 2\ / 3\m 3 \f/ Outswing shown - Inswing diso approved
\8/ \7J \ZANT/ \8 /
0.75" ‘*I*—’-i L 1.5" —af
1 : #8 X 3/4" PFH SMS 4 HINGE AT STRKE PLATE
X #8 X 2.5" PFH WOOD SCREW \ yox 1 prsvs  DOORPANEL
SIDELITE PANEL 7 .
— \ [ #BX2:1/2'PFH WS
3 —_
. o &
/
ENDURA WEATHERSTRIP
#8 X 2.5" COURSE THREAD
DRYWALL SCREW DOOR PANEL (QEBD 630) \
= 125" = 25" tsee Note 1) #8 X 2.5" COURSE THREAD
ALL SCREW —|
JAMB / HEAD FATBOY MULLION “/ R o Note /
PINE PINE 4-3/8" FATBOY PINE MULLION
T\ HORIZONTAL CROS o 4-3/8" FATBOY PINE MULLION
) Ri ROSS SECTION
NOTE: ¢ /"3 "\ HORIZONTAL CROSS SECTION

. Spacing for sidelite screws: 6.5, 38.5"

and 49" from head to sill {3 total.

w Outswing shown - Inswing also approved

SIDELITE PANEL

W Outswing shown - Inswing also approved

Lyndan F. Schmidt, P.E
TEXAS P.E. #104123

P.C. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
(WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

o
S 2
8 =2
< =5
3 VX SK
2 Jla N
S o|lz &2
i SW
] ) o]
m(ﬂ:]:ct
=B) < O
. Lo
6 o
3 ]
2 |E
o o.
bl
“|m

11/26/13|ADDED ARTICULATING SILL

NO| DATE

1

REVISIONS

oate: 7/03/12

SCALE: N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
1X—4166

SHEET 6 oF @

© 2012 R.W. BUILDING CHENSULTANTS INC.



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 7.3

INTERIOR

ENDURA WEATHERSTRIP
{QEBD/PE 650)

ENDURA THRESHOLD
{Z-SERIES OUTSWING)
ZOB4585FN {shown)

=

MRNN

DOOCR PANEL

h |

EXT. SHEATHING \: ’

2X FRAMING
< (G>=0.42)

/— DRYWALL

1/4" MAX, y

SHIMSPACE . _ fflllf

e #10X 2.5 PRH
] woopscrew

0.15
C'SINK
(rYp.)

DOOCR PANEL -\

x\\

L HEAD

ui

ENDURA WEATHERSTRIP

{QEBD/PE 650}

EXTERIOR W INTERIOR

/" 1"\ VERTICAL CROSS SECTION

\J Outswing shown - inswing

also approved

EXTERIOR EXTERIOR

ENDURA THRESHOLD
(Z-SERIES INSWING ADJUSTABLE)

15

1

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
W CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

AR

o

\

\

DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-R]

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phons No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ZAI4565FN {shown)
X

w Outswing shown

x"\ INTERIOR EXTERIOR iy e
\ DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-AC]
ENDURA THRESHOLD NN
/T T 1 {Z-SERIES INSWING ARTICULATING) e~
WAR IACA4565FN {shown] 7 ﬁ!
MEN7 T
#—l 'E} | — /}7 V U'z' %
« 0K 7 A‘

SN

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
TW CONCRETE SCREW

7“3 \ VERTICAL CROSS SECTION

\y Inswing configuration

Z

G

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
W CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

\U Inswing configuration

7]
=
o
S
|
175
3 vy
D | W
) Al e
=z o
LJ = ©
al -
2 S
sl —
o &l o
2 Y
a =
g %
a. oa
o
Slm
|
=
W
% =
e
A
2 &
O
= a8
2
<
)
(1Y)
Q
a
<
2|
L
NE
"~
~lo
=z
oate: 7/03/12
scalE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4166

SHEET 7 oF 9

© 2012 R.W. BUILDING CENSULTANTS ING.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4164-67.dwg, 8.3

EXTERIOR INTERIOR

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
{See Note 1)

!

X
\

j

N

==
-
= )

¢
\/]
By

2X FRAMING
{G>=0.42)

I ' / EXT. SHEATHING

DRYWALL \ ¥

1/4" MAX.

— #10X 2.5" PFH
{ll wooD screw

r
e

SHIMSPACE ™ ™~ _|_

0.15"
C'SINK
(TYP.)

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW — |
{See Note 1)

INTERIOR 7

ui

L HEAD

EXTERIOR

71"\ VERTICAL CROSS SECTION

w Inswing shown - Qutswing also approved

ENDURA THRESHOLD W/ SIDELITE SPACER
(Z-SERIES OUTSWING) ZOB4565FN (shown)

A

7 2\ VERTICAL CROSS SECTION

\_BJ Outswing configuration

#10 X 2.5" PFH{ WOOD SCREW

1/4" X 2-3/4' ELCO OR
[TW CONCRETE SCREW

INTERICR

SIDELITE PANEL —\\

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(See Note 1)

2-ipt ¥

T

NOTE:
* Spacing for sidelite screws:
4" from each end (2 total).

I

\\ EXTERIOR

ENDURA THRESHOLD W/ SIDELITE SPACER
(Z-SERIES INSWING) ZAI4565FN {shown)

A\

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
fTW CONCRETE SCREW

VERTICAL CROSS SECTION
\8 /

inswing configuration

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Rocumenta Prepared By
WPhone MNo.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

11/26/13|ADDED ARTICULATING SILL

NO| DATE

1

REVISIONS

DATE: 7/03/?2

SCALE:  N.T.S.

DWG, BY: JK

CHK. ar: LFS

DRAWING NO.:
TX~4166

sheer 8 or @

© 2012 R.W. BUILDING CONSULTANTS ING.



R\A - Projects\Project Folders\Praj 1601 - 1700\PF 1675\, RWBC Drawings\TX-4164-67.dwg, 9.3

6.44" FROM

SEE HINGE .
DETALT ke

LY
)
k=3

SEE HINGE
DETAIL 2

5 |
LF
|

I'— 37.625
68.81"

TOP OF
DOOR PANEL

HINGE JAMB

CONCRETE ANCHOR NOTES:

FLOOR SUBSTRATE MATERIAL [TYP.}
CONCRETE (MIN. 3000 PSi)
WOOD (G >=0.42)

2X framing by others)

o
(TYP.)

;
= ey

6"

R

it

| !\R
#10 X 2.5" PFH DETAIL

WOOD SCREW
(TYP. @ HEAD
AND JAMBS)

/—DETAIL]
{ IR (O

1

I

N1 i

\7 DETAIL 1

b

6..
(TYP.)

~— DETAIL 1
i

I 1

1

|
’-*é— 22 ‘J% 24" %—L— 22"

&

FRAME ANCHORING

OX0

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

nmw — | n
TAPCON® 1/4" 1"3/4" 2"!/2 3"
ELCO (1] " n il
ULTRACON® 1/4 1-3/4 1 3

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW
(TYP @ SILY)

DETAIL 1
Infegral mullion attachment

38.31" FROM
TOP
OF DOOR PANEL

o
55— l:

STRIKE JAMB
— DEADBOLT STRIKE
#8 X 3/4" PFH WS PLATE
#8 X 3" PFH WS
LATCH STRIKE
— PLATE

#8 X 3" COURSE DRYWALL SCREW

DETAIL 4

Lock strike plates

| #9X2-1/2" PFH WS
% L
n f‘ -
#9 X 3/4" PFH WS 4:‘ i e #9 X 3/4" PFH WS
—— 4" X 4" HINGE
\
W
HINGE DETAIL

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

B813.658.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documentas Prespared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

LF
BY

11/26/13|ADDED ARTICULATING SILL

1

NO| DATE

REVISIONS

vate: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—~4166

SHEET 9 oF 9

© 2012 B.W. BUILDING CONSULTANTS ING.



